Yes, you can.

Part No.
408
411
416
418
420
428
430
431
432
436
438
439
442
443
445
451
452
455
456
457
458
459
461
466
467
468
469
471
473
477
478
480
481
482
483
484
485
486
487
488
489
490

Description

NEW STYLE U CLAMP

WASHER CLAMP

BALL BASE PLATE 1" MILLED
BALL BASE PLATE 1" STD
TRUNK SUPPORT POST

TRUNK SUPPORT ROD
SEAT/BACK HINGED BRACK OFFSET
BOTTOM EE HEADREST BR
HINGED TRUNK SUPPORT B

30 DEGREE SEAT BRACKET
PELVIC SLIDE BRACKET STD
SEAT MOUNT BRACKET ECONO EZE
LATERAL BRKT FIXED 1" O/S STD
LATERAL BRKT FIXED 2" O/S STD
FLAT DUAL SLOT BRACKET

L BRACKET DUAL SLOT 3" X 6"

L BRACKET DUAL SLOT 4" X 2"
HINGED TRUNK SUPPORT
QUICK RELEASE LATERAL

QUICK RELEASE LEV CLMP
PELVIC & HEADREST SPAC
MILLED SEAT MOUNT BRAC

ADJ CHANNEL BRACKET TRAY HDWE
4" SLOTTED BRACKET

EE7B HEADREST BRACKET

EES5F TRUNK SUPPORT BR
SUB-A.S.I.S. BAR

ADJUSTABLE ARM TROUGH
PUSH-BUTTON LATERAL BR
ADJUSTABLE LUMBAR ASSE
EE7I HEADREST ASSEMBLY
SPACER - 1/4" SINGLE SLOT
SPACER - 1/4" ROUND

SPACER - 1/2" DUAL SLOT
SPACER - 1/4" DUAL SLOT
T-NUT - 1/4 X 20

BEE STINGER - 1/4-20

EESE PLATE ONLY:L,1",2

STAR KNOB

EE CLAMP ONLY

SPREADER BAR

SNPLK KT-ST OR BK

STNG PARTS

4/27/2022

uom
EACH
EACH
EACH
EACH
EACH
EACH
PAIR

EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
PAIR

EACH
PAIR

PAIR

EACH
EACH
EACH
EACH
EACH
EACH
EACH

Page 1 of 11

Freedom Designs
2241 Madera Rd.

Simi Valley, CA 93065

800.331.8551 | | www.freedomdesigns.com

HCPC

K0108
K0108
K0108
K0108

K0108
K0108
K0108
E1028
K0108
E1028
K0108
K0108
K0108
K0108
K0108
K0108
E1028
E1028
K0108
E1028
K0108
E1028
K0108

K0108

K0108
K0108
K0108
K0108
K0108
K0108
K0108
K0108
K0108
K0108

V2R VR R Ve SRV RE VRV SRV, SR VR Vo R VR Vo SRV SR Ve SR V) SRV VoREVe SRV RE VR E Vo SRV RE VRV IR Vo SRV SRV REVoRE VAR VaRE VR VSRV RE VARV SRV RE Vo SRV IR Vo R E VARV R VR Vo3

customerservice@freedomdesigns.com

Retail
42.00
45.00
56.00
45.00
40.00
111.00
358.00
58.00
73.00
28.00
33.00
34.00
37.00
37.00
53.00
64.00
53.00
178.00
214.00
67.00
27.00
45.00
80.00
42.00
356.00
122.00
94.00
297.00
237.00
214.00
356.00
23.00
19.00
23.00
23.00
2.00
2.00
63.00
17.00
180.00
34.00
171.00



Yes, you can.

Part No.
491
492
493
495
496
498
501
509
515
520
521
522
523
524
537
538
539
541
542
543
544
546
547
549
551
552
553
554
555
556
557
558
559
562
563
565
566
567
568
569
570
571

STNG PARTS
4/27/2022

Description uom
SNAPLOCK EACH
CRESCENT L'S S/B MTG EACH
EXT'D L'S-6 HOLES S/B EACH
KEEPER PLATE-PAIR EACH
EESE HINGE ONLY EACH
PULL KNB W/BLOCK S/W EACH
HEADREST SLIDE FLIP EACH
NUTS & BOLT KIT W/BOX EACH
ECO EZ SPRING LOAD FORKS ASSY EACH
GLIDE LOCK FRAME CLAMP EACH
LEG CRDLE CLMP W/FLAT BRAC-PR PAIR
TRIGLIDE W/TRIANGLE PLATE KIT PAIR
HARDWARE TEATHER PAIR
KOALA KIT EACH
EZ-S/B (ATTACHING HDWE) SET
ECONO-S/B (ATTACHING HDWE) SET
EZ-ECONO-S/B (ATTACHING HDWE) SET
J&L-S/B (ATTACHING HDWE) SET
J&L(Q.R)-S/B (ATTACHING HDWE) SET
HIDE AWAY LVR FLIP-DWN ABD HDW EACH
HANGER MNTED ADDCTR HDWE ONLY EACH
NOT AVAIL ABD HDW W/SHORT TOP EACH
NOT AVAIL ABD HDW W/LONG PLATE  EACH
L BRACKET FOR EZ CONF. BACK EACH
EE1/EE2 HDWE UPGRADE E1012PK3 PAIR
EE1/EE2 HDWE UPGRADE E1013PK6 EACH
LOCKING DROP HOOK 1" EACH
HRDWRE PKGE: 462, 439,436, 430 SET
J/L FOR EZ CONFORM BACK SET
Q.R IV POLE HARDWARE EACH
EE1-ALL ADJ SEAT HRDWRE/NO 430 SET
EE2- ALL ADJ BACK HRDWR NO 430 SET
EZ LITE ADJ CHANNEL TRAY HDWE EACH
EZ LITE / EE2 HDWE ONLY NO 430 SET
Q/R VENT/BATTERY TRAY HDWE KIT EACH
ABD KEEPER PLATE EACH
EASY CLAMP- 1" EACH
EASY CLAMP W/ L BRKT EACH
FRAME STOPPER CLAMP 3/4" TO 1" EACH
LAT/DPTH ADJ GRWTH HRDW/FIX-L

LAT DPTH ADJ GRWT HRD/FIX 1"0OS EACH

LAT DPTH ADJ GRWT HRD/FIX 2"0S

Page 2 of 11

Freedom Designs
2241 Madera Rd.

Simi Valley, CA 93065

800.331.8551 | | www.freedomdesigns.com

customerservice@freedomdesigns.com

HCPC
K0108
K0108
K0108
K0108
E1028
E1028
E1028
K0108
K0108
K0108
K0108
K0108
K0108
K0108
K0108/A9900
K0108/A9900
K0108
K0108/A9900
K0108/A9900
E1028
E1028
E1028
E1028
K0108
K0108
K0108
K0108
K0108
K0108
K0108
K0108
K0108
E1028
K0108
E1028
K0108
K0108
K0108
K0108
E1028
E1028
E1028

2RV ARV AR Vo R Ve R Ve AR Vo Vo R Ve R VR Ve SR Vo R Ve SR VR Ve R Vo AR Ve SR Vo SR VR R Ve AR Ve R R Vo RR Ve R R Vo SR Vo R Vo SR VAR Ve SR VAIEVoREVaNE Ve SEVARE Vo Ve B R Vo SR Ve JR Vo SRV RE Vo SR VA RE Vo3

Retail
50.00
56.00
53.00
34.00
121.00
102.00
149.00
196.00
86.00
67.00
334.00
33.00
23.00
129.00
477.00
856.00
669.00
498.00
762.00
299.00
287.00
275.00
275.00
53.00
351.00
351.00
158.00
547.00
95.00
178.00
256.00
256.00
80.00
502.00
329.00
19.00
106.00
148.00
17.00
217.00
196.00
196.00



Yes, you can.

Part No.
576

577

578

579

581

583

584

585

586

587

588

591

592

593

594

595

596

597

598

7700
7701
7702
7703
7704
7706
7707
7708
7709
7711
7730
7731
7733
9111
9112
9113
EB1-430
EB1-430A
EB1-430B
EB1-430C
EB1-436A
EB2-6A
EB2-6A-1

STNG PARTS
4/27/2022

Description uom
9 HOLE 1" L BRACKET T/G EACH
2 HOLE 1" J BRACKET T/G EACH
RETAINER CLAMP EACH
ROTATE HOLD DOWN CLAMP EACH
PSH BTTN FLIP DN ABD HDWE EE3S EACH
RATCHET LEVER 1/4-20 X 1-1/4" EACH
02 Q.R. HRDWRE- 462, 437 SET

3/4" TRIGLIDE WEBBING ADJUSTER EACH
1" TRIGLIDE WEBBING ADJUSTER EACH
1-1/2" TRIGLIDE WEBBING ADJUST EACH
2" TRIGLIDE WEBBING ADJUSTER EACH
RATCHET LEVER 8 X 10MM (7715) EACH
HNGR MNTD ADUCTOR HDWE ASSY EACH
ROCK N ROLL MOUNT BLOCK ASSY EACH
ROCK N ROLL REMVBL VERT TUBE EACH
ROCK N ROLL MLLED 1" CLLR CLMP EACH
ROCK N ROLL EXTENSION ARM STD EACH
ROCK N ROLL UPPER PIVOT JOINT EACH
ROCK N ROLL HEAD PAD MTNG BRKT EACH
VERT/ HORIZ ADJ. REM HDRST HDW EACH
MULTI-ADJ. HEADREST HDWE EACH
FLIP-BACK ADJ HEADREST HDWE EACH
FLIP-BACK MULTI AXIS HDRST HDW EACH
PULL-KNOB HGT ADJ QR HDRST HDW EACH
SLIDE-LOCK HORIZ/VERT ADJ HDWE EACH
SLIDE-LOCK MULTI-AXIS HDRST HD EACH
ROCK-N-ROLL ADJ REM HDRST HDWE  EACH
ROCK-N-ROLL FLIP ADJ HDRST HDW EACH
ADJUSTEZE MULTI-PSTN HDRST HDW EACH
UNIVERSAL HDRST. PLATE EACH
FDI HEADREST PLATE EACH
ADAPTAPLATE - HR HDWE ADAPTER EACH
SCREW-1/4-20 X 7/8 HEX HEAD EACH
SCREW 1/4-20 X 7/8" BUTTON HD EACH
SCREW 1/4-20 X 5/8" SOCKET HD EACH
SEAT/BACK HINGED BRACK OFFSET PAIR
SEAT BACK HINGE FLUSH EACH
FLIP-N-FOLD S/B BRACK. STD. EACH
FLIP-N-FOLD S/B BRACK. CHILD EACH
PLASTIC 30 DEGREE @ REAR PAIR
STRAP RISERS 1-1/2" WIDE FLAT PAIR
STRAP RISERS 1" WIDE FLAT PAIR

Page 3 of 11

Freedom Designs
2241 Madera Rd.

Simi Valley, CA 93065

800.331.8551 | | www.freedomdesigns.com

customerservice@freedomdesigns.com

HCPC
K0108
K0108
K0108
K0108
E1028
K0108
K0108
K0108
K0108
K0108
K0108
K0108
E1028
E1028
K0108
K0108
K0108
K0108
K0108
E1028
E1028
E1028
E1028
E1028
E1028
E1028
E1028
E1028
E1028
K0108
E0955/E1028
K0108

R AR R SR SR R SR S SR V2 R V2 AR Ve R Vo AR Vo R Vo SR Ve SR Vo R Ve R Vo R R Ve R R Vo SR Ve R Vo R VaNE Vo R VaNE Vo RR Vo R Vo AR Vo T SR T SV SRV AR VR Vo SR Vo Vo SR T ST,

Retail

27.00
55.00
281.00
15.00
393.00
3.00
4.00
5.00
6.00
15.00
196.00
228.00
94.00
44.00
80.00
56.00
56.00
174.00
367.00
341.00
395.00
366.00
283.00
320.00
475.00
486.00
279.00
140.00
134.00
76.00
3.00



Yes, you can.

Part No.
EB2-6B
EB2-6B-1
EB2-7733
FD-7703A
IVC-484C
PT-WASHERS-STD
>T-WASHERS-THIN
PT-3581-EXT
WASHERS-K
11-584
403A
403AM
403A-1"
403B
403BM
403C
403CM
403C-B
405A1
405A1B

A1B FD MODEL 60
405S1A
406A1
406S1
407A1
40751

408 FD MODEL 60
408HH
410A

413A

413S

414A

414S

415A

415S

424-2

430 EE1 PK1
430A

430B

430C

430D
430E1013

STNG PARTS Freedom Designs
2241 Madera Rd.

Simi Valley, CA 93065

4/27/2022
800.331.8551 | | www.freedomdesigns.com
customerservice@freedomdesigns.com

Description uom HCPC Retail
STRAP RISERS 1-1/2" W 252 BEND PAIR S -

STRAP RISERS 1" WIDE 252 BEND PAIR S -

ADAPTAPLATE - HR HDWE ADAPTER EACH S -

HDRST BALL/SOCKET/ROD KIT S 247.00
TRACK NUTS-150 PACK PACK 1504183 S 112.00
WASHERS-STD PACK 1537276 S 5.00
WASHERS-THIN PACK 1537277 S 5.00
PT FLIP DOWN ABDUCTOR BKT EACH 1535146 S 335.00
WASHERS 1/4-20 EACH S -

02 TANK Q/R HDWE MOUNTING KIT KIT E1028 S 393.00
SPLIT COLLAR CLAMP - 1" EACH K0108 S 42.00
SPLIT COLLAR CLAMP 1" MILLED EACH K0108 S 42.00
SPLIT COLLAR CLAMP 1" - NO PIN EACH S 41.00
SPLIT COLLAR CLAMP - 7/8" EACH K0108 S 42.00
SPLIT COLLAR CLAMP 7/8" MILLED EACH K0108 S 42.00
SPLIT COLLAR CLAMP - 3/4" EACH K0108 S 42.00
SPLIT COLLAR CLAMP 3/4" MILLED EACH K0108 S 42.00
SPLIT COLLAR CLAMP - 3/4" BLK EACH K0108 S 42.00
1" DROP HOOK/ALUMINUM EACH K0108 S 32.00
0" DROP HOOK ALUM. EACH K0108 S 32.00
0" DROP HOOK ALUM. EACH S -

1" DROP HOOK/STAINLESS EACH K0108 S 32.00
2" DROP HOOK/ALUMINUM EACH K0108 S 34.00
2" DROP HOOK/STAINLESS EACH K0108 S 34.00
3" DROP HOOK/ALUMINUM EACH K0108 S 37.00
3" DROP HOOK/STAINLESS EACH K0108 S 37.00
FRAME CLAMP - OLD 403 EACH S -

OLD STYLE CLAMP @ BTM EACH E2617 S -

BALL BASE CLAMP MILLED, 2-POS EACH K0108 S 56.00
L-BRACKET ALUMINUM EACH K0108 S 42.00
L-BRACKET STAINLESS EACH K0108 S 42.00
J-HOOK ALUMINUM EACH K0108 S 42.00
J-HOOK STAINLESS EACH K0108 S 42.00
J & L ASSEMBLY - ALUMINUM EACH K0108 S 81.00
J&L W/FASTENERS STNLES EACH K0108 S 81.00
EE3B-2 FLIP HDWE w/TOP PLATE EACH E1028 S 299.00
SEAT TO BACK BRKT HINGE EACH S =

SEAT BACK HINGE FLUSH EACH K0108 S 358.00
FLIP-N-FOLD S/B BRACK. STD. EACH K0108 S 358.00
FLIP-N-FOLD S/B BRACK. CHILD EACH K0108 S 358.00
SEAT TO BACK BRKT TDLR 2" O/S EACH K0108 S 179.00
SEAT TO BACK BRACKET HINGE PAIR S -

Page 4 of 11



Yes, you can.

Part No.
432A
432B
432C
432D

436 EE1 PK1
436A
437A

437A-L
437A-R
437A-2
437B
437C
437E
437NC
437-L
437-PIN-L
437-PIN-R
437-PIN-2
437-R
437-2
438T

439 EE1 PK1
439A
439B

439-PIN-1
439-PIN-2
439-1
439-2
442A
4428
442C
443B
443C
443SW
450A
450B
450C
450T7-1
450T7-2
453A
454A
454B

Description

FREE SWNG TRUNK SHORT

FREE SWNG TRUNK LONG

FREE SWNG TRUNK 1" OS

FREE SWNG TRUNK 2" OS

302 CLAMPS, 2 EACH

ECONO LITE 302 CLAMP

BACK MOUNT BRKT EE DBLE NOTCH
BACK MOUNT BRKT EE DBL NOTCH L
BACK MOUNT BRKT EE DBL NOTCH R
BACK MOUNT BRKT EE DBL NOTCH
BACK MOUNT BRKT EE HINGE

BACK MOUNT BRKT EE PEDIATRIC
BACK MOUNT BRKT EE MICRO

BACK MINT BRKT EE DBL NTCH BENT

STNG PARTS

4/27/2022

Uuom
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
PAIR

EACH
EACH
EACH
EACH

BACK MOUNT BRACKET ECONO EZE L EACH

BACK MOUNT BRCKT PIN LOCK EE L
BACK MOUNT BRCKT PIN LOCK EE R
BACK MOUNT BRACKET PIN LOCK EE

EACH
EACH
PAIR

BACK MOUNT BRACKET ECONO EZER  EACH

BACK MOUNT BRACKET ECONO EZE
PELVIC SLIDE BRACKET TODDLER
SEAT MNT BRKT EE FOR EE1 PK1
SEAT MOUNT BRACKET EE MICRO
ECONOLITE SEAT FORK

SEAT MOUNT BRACKET PIN LOCK EE
SEAT MOUNT BRACKET PIN LOCK EE
SEAT MOUNT BRACKET ECONO EZE
SEAT MOUNT BRACKET ECONO EZE
1" OS EXT FXD LAT SUPP

1" REV OFFSET BRK (DISC. 6/11)

1" OS S/W FIXED LAT

2" OFFSET EXTEND LATS

2" OS SUM/WNTR FIX COM

2" OFFSET BRACKET/SUMM
LATERAL BRACKET FIXED FLUSH ST
L BRACKET LATERAL EXTEND

L BRKT SUM/WTR FIX COM

FIXED FLUSH TODDLER LATERAL HD
FIXED FLUSH TODDLER LATERAL HD
ECONO FLIP PELVIC BRAC

ADJ KNOB REL TRAY HDWE
TOGGLE CLMP TRAY HRDWR

PAIR

EACH
EACH
EACH
EACH
EACH
PAIR

EACH
PAIR

EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
PAIR

EACH
EACH
EACH

Page 5 of 11

Freedom Designs
2241 Madera Rd.

Simi Valley, CA 93065

800.331.8551 | | www.freedomdesigns.com

HCPC

E1028
E1028
E1028
E1028

K0108
K0108
K0108
K0108
K0108
K0108
K0108
K0108

K0108
K0108
K0108
K0108
K0108
K0108
K0108

K0108
K0108
K0108
K0108
K0108
K0108
K0108
K0108
E1028
K0108
K0108

K0108
K0108
E1028
K0108
K0108
E1028
E1028
E1028

V2R VR RV SRV RE VR Vo R R Vo R VoV R Vo SR Vo R RV SR VR E VSR VARE VaRE Ve SRV RE VR E Vo SRV, SE Vo RE VIR VR RV SRV RE VR E Vo ARV, SE Vo RE VSRV RE VRV SRV RE Vo RV SR T, SR Ve JRVe SR Vo V)

customerservice@freedomdesigns.com

Retail
174.00
174.00
174.00
174.00

21.00

33.00

33.00

33.00

33.00

34.00

34.00

34.00

23.00

71.00

71.00
141.00

23.00

48.00

80.00

34.00

34.00

71.00
141.00

34.00

67.00

81.00

33.00
128.00

81.00
135.00

51.00

34.00

81.00
128.00

45.00

89.00
260.00

63.00
149.00



Yes, you can.

Part No.
454C
455A
455B
455C
455D

455D-L
455D-R
455D-2
455T-L
455T-R
455T-2
456A
456AE
456B
456BE
456D
456E
456EE
456F
456FE
456G
456GE
456H-B
457HH
460B
462 EE1 PK1
462A
462B
462D
462FT
462G
462GH
462H
463D
463G
464A
464B
464C
464D
64D FD MODEL 10
64D FD MODEL 40
464E

STNG PARTS Freedom Designs
2241 Madera Rd.

Simi Valley, CA 93065

4/27/2022
800.331.8551 | | www.freedomdesigns.com
customerservice@freedomdesigns.com

Description uom HCPC Retail
VELCRO STRAPS FOR TRAY EACH K0108 S 49.00
LCKNG S/A THOR SHORT " L" EACH E1028 S 178.00
LCKNG S/A THOR LONG EACH E1028 S 178.00
LCKNG S/A THOR 1" OS EACH E1028 S 178.00
LCKNG S/A THOR 2" OS EACH E1028 S 178.00
LIFT S/A LAT THOR 2" OS HDWE L EACH E1028 S 178.00
LIFT S/A LAT THOR 2" OS HDWE R EACH E1028 S 178.00
LIFT S/A LAT THOR 2" OS HDWE PAIR E1028 S 356.00
LIFT S/A LAT THOR L BRKT TDLR EACH E1028 S 178.00
LIFT S/A LAT THOR L BRKT TDLR EACH E1028 S 184.00
LIFT S/A LAT THOR L BRKT TDLR PAIR E1028 S 367.00
LATERAL BRKT Q/R FLUSH STD EACH E1028 S 171.00
LATERAL BRKT Q/R FLUSH EXT EACH S 217.00
LATERAL BRKT Q/R 1" OFFSET STD EACH E1028 S 171.00
LATERAL BRKT Q/R 1" OFFSET EXT EACH E1028 S 217.00
Q.R LAT SUPPORT RECVR EACH E1028 S 126.00
Q.R LAT SUP PLATE "L" EACH E1028 S 45.00
Q.R. LAT SUP PLATE L EXTENDED EACH E1028 S 90.00
Q.R LAT SUP PLATE 1" EACH E1028 S 45.00
Q.R LAT SUP 1" OS EXTENDED EACH E1028 S 90.00
NOT AVAIL Q.R LAT SUP PLATE 2" EACH E1028 S -

NOT AVAI QR SUP PLT 2" OS EXT EACH E1028 S 195.00
PULL KNOB - 1/4 TURN BLACK EACH E1028 S 46.00
Q.R. LEV. CLMP @ TOP EACH E2617 S -

ABD FLIP TOP PLATE EXT 3X5 EACH E1028 S 51.00
EE CLAMPS AT THE FRONT PAIR S -

ECONO EZE CLAMPS STD ROUND PAIR K0108 S 334.00
FRAME EE SQUARE THRU EACH K0108 S 334.00
FRAME CLAMPS-FOR QTS FOLDING PAIR K0108 S 334.00
ECONO EZ NO ADJUSTMENT PAIR S 279.00
FRAME CLAMPS MICRO EE HDW PAIR K0108 S 334.00
EE MICRO W/3 SPCRS FOR11/8 PAIR S 318.00
EE CLAMPS W/3 SPCRS FOR11/8 PAIR S 318.00
HEAVY DUTY HINGES EZCONF/BIANG EACH K0108 S 66.00
HINGE - TRI-SLOT 2-1/4" X 3" EACH K0108 S 66.00
SINGLE SLOT TRACKS 11" PR EACH K0108 S 61.00
SINGLE SLOT TRACKS 9" PR. EACH K0108 S 61.00
SINGLE SLOT TRACKS 7" PR. EACH K0108 S 61.00
SINGLE SLOT TRACKS 5" PR EACH K0108 S 61.00
5" TRACKS FOR FD MODEL 10 PAIR K0108 S -

5" TRACKS FOR FD MODEL 40 PAIR K0108 S =

SINGLE SLOT TRACKS 3" PR. EACH K0108 S 61.00

Page 6 of 11



Yes, you can.

Part No.
464F
464H

4641
464)
464K
464L
464M
464N
465A
465C
465D
467A
467B
468A
468B
468C
478A
478C
478D
484A-6
484B
484C-K
484C-6
484D-6
484E
484E-4
485A
485B
486A
486A-L
486B
486B-L
486B-LM
486C
486C-L
486C-L-L
486C-L-LM
486C-L-R
486C-L-RM
486D
486D-L
486D-L-L

Description

DOUBLE SLOT TRACKS 5" PR.
DOUBLE SLOT TRACKS 9" PR.
DOUBLE SLOT TRACKS 11" PR.
DOUBLE SLOT TRACK 3" PR.
DOUBLE SLOT TRACKS 5" PR.
DOUBLE SLOT TRACKS 7" PR.
DOUBLE SLOT TRACKS 13" PR.
DOUBLE SLOT TRACKS 15" PR.
SHOULDER SUPPORT MOUNT
SHOULDER SUPPORT BAR
SHOULDER RET BAR CONTR
HDRST TOP PLATE ADJUST
HDRST ROD RECVR MULTI

THOR FXD BACK POST 1"

THOR FXD BACK POST 7/8

LAT THOR. BCK MNT 3/4"
HEADREST/ARMREST POST

PULL KNOB HR/AR POST

BRASS PULL KNOB FOR HEADREST
T-NUT - BARBED 1/4-20 - 6 PK
T-NUT - BARBED 7/16-16

TRACK NUT 1/4-20

TRACK NUT 1/4-20 - 6PACK
T-NUT - DIMPLED 1/4-20 6-PK
WELD PLATE DUAL 1/4-20

WELD PLATE DUAL 1/4-20 4/PK
BEE STINGERS 1/4-20

BEE STINGER 7/16-16

S/A TRUNK PLATE SHORT

LEV REL FRONT PLTE-SHORT

S/A TRUNK PLATE LONG

LEV REL FRONT MOUNT PLT- LNG
S/A LEV FRONT PLATE MICRO-LONG
S/A TRUNK PLATE 1" OS

LEV REL FRONT PLTE- 1" OS

S/A LEV SUPP FRNT PLTE 1" OS L
S/A LEV FRNT PLTE MICRO 1"OS L
S/A LEV SUPP FRNT PLTE 1" OSR
S/A LEV FRNT PLT MICRO 1"OS R
S/A TRUNK PLATE 2" OS

LEV REL FRONT PLTE- 2" OS

S/A LEV FRONT PLATE 2" OS LEFT

STNG PARTS

4/27/2022

uom
EACH
EACH
EACH
EACH
PAIR

EACH
PAIR

PAIR

EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
PACK
EACH
EACH
PACK
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH

Page 7 of 11

Freedom Designs
2241 Madera Rd.

Simi Valley, CA 93065

800.331.8551 | | www.freedomdesigns.com

HCPC

K0108
K0108
K0108
K0108
K0108

K0108
K0108
K0108
K0108
K0108
K0108

K0108
K0108
K0108
E1028
E1028
E1028
K0108
K0108

K0108
K0108
K0108
K0108
K0108
K0108
E1028
E1028
E1028
E1028

E1028
E1028

E1028

E1028
E1028

E1028

R RV RR VR R Vo AR VR VR Vo R Vo RR VR Vo S Ve ARV R VR VR Vo SRV, SR VAR VSR Vo AR Vo RV SR VSR VIR Vo RV SR o SRV IRV, SRVAE VoRE Vo RV SRVAIE VoRE Vo R RV, SR VARE VoS E Vo E Vo RE VoRE VX

customerservice@freedomdesigns.com

Retail
68.00
68.00
68.00
52.00
52.00
52.00
68.00
68.00
72.00
111.00
111.00
59.00
50.00
148.00
148.00
148.00
179.00
174.00
33.00
13.00
2.00
13.00
13.00
4.00
15.00
2.00
2.00
73.00
73.00
120.00
120.00
114.00
73.00
73.00
73.00
73.00
73.00
73.00
73.00
73.00
73.00



Yes, you can.

Part No.
486D-L-R
487A
487B
487C
487D
488E
489A
489B
489C
489D
489E
489F
490A
490B
491A
491B
492S
493UPGRADE
494Al
494AL
494BI
494C
494CL
495A
496A
496A-L
496B
496C
496C-M
496D
496D-L
496E
496F
497A
497B
497C
497D
498B
498C
498D
499A
499B

Description

S/A LEV FRONT PLATE 2" OS RIGH
STAR KNOB - NO STEM EE HDWE
STAR KNOB 3/8-16 X 1-1/4" STEM
STAR KNOB 1/4-20 X 1" STEM

STAR KNOB 1/4-20 X 3/4" STEM
ECONO EZE CLAMP ONLY - MICRO
SPREADER BAR 10-11 CHAIR WIDTH
SPREADER BAR 12-13 CHAIR WIDTH
SPREADER BAR 14-15 CHAIR WIDTH
SPREADER BAR 16-17 CHAIR WIDTH
SPREADER BAR 18-19 CHAIR WIDTH
SPREADER BAR 20" CHAIR WIDTH
SNAPLOCK KIT 1" 4 EA

SNAPLOCK KIT 7/8" 4 EA
SNAP-LOCK CLAMP 1" TUBING
SNAPLOCK CLAMP 7/8"

CRESCENT L STAINLESS

MAKE L'S ON BACK EXTENDED
TWISTER CLMP W/ L 1"-DISCONTIN
TWISTER CLMP W/L 1"- DISC
TWISTER W/ L 7/8"

TWISTER - 3/4" DISCONTINUED
TWISTER W/ L 3/4" Discontinue
KEEPER PLATE - THREADED 1/4-20
LATERAL SUP HINGED LCK

HINGE ONLY FOR LEVER REL TS
LATERAL HNGE FREE SWNG

S/A TRUNK REAR PLATE

S/A LAT REAR MNT PLATE- MICRO
S/A LAT. REAR PLTE S/W

LEVER REL REAR PLATE SUM/WNTR
EXT'D S/A LAT REAR PLATE S/W
PUSH BUTTON S/A HINGE FOR EE5W
S/A S/W W/KNOB ASSEM.

S/A S/W EXT W/KNOB ASM
S/AS/W 1" W/KNOB ASSM
S/AS/W 2" W/KNOB ASSM

LOCK SUM/WNTR LONG BRK

LOCK SUM/WNTR 1"0OS BRK

LOCK SUM/WNTR 2"0S

PULL KNOB FLIP BACK SHORT

PULL KNOB FLIP BACK LONG

STNG PARTS

4/27/2022

uom
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
PAIR

EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH

Page 8 of 11

Freedom Designs
2241 Madera Rd.

Simi Valley, CA 93065

800.331.8551 | | www.freedomdesigns.com

HCPC

E1028
K0108
K0108
K0108
K0108
K0108
K0108
K0108
K0108
K0108
K0108
K0108
K0108
K0108
K0108
K0108
K0108

K0108

K0108
K0108
K0108
E1028
E1028
E1028
E1028

E1028

E1028
E1028
E1028
E1028
E1028

E1028
E1028

2 2R Vo SR Vol R Vo SV SR VoR Vo RV SR VAR Vo AR Ve SRV SR VoNE Vo NEVaNE VoS Vo 2R Vo SEVoNE Vo Ve SR Vo iR Vo Rl Vo AT SR VSRV SR VR Vo AR Vo AEVANE VoS Vo SE VSR Vo NE VSRV SR VSR VoS E V) SE VR VoS

customerservice@freedomdesigns.com

Retail
73.00
22.00
21.00
22.00
22.00
173.00
42.00
42.00
42.00
42.00
42.00
42.00
214.00
214.00
63.00
63.00
53.00
9.00
120.00
132.00
120.00
103.00
132.00
34.00
140.00
140.00
45.00
73.00
73.00
94.00
88.00
107.00
140.00
262.00
308.00
262.00
262.00
279.00
237.00
237.00
149.00
149.00



Yes, you can.

Part No.
504 EE1 PK1
504A
504B
504C
507A
510A
510A-L
510A-R
510A-2
510BM
510B-L
510B-R
510B-2
510C-L
510C-R
510C-2
510D-L
510D-R
510D-2
511A
511A-L
511A-R
511A-2
511B
511C
511D
512A
512B
513A
513B
514A
514B
516A
516B
516C
538A
538B
538C
539A
539EX
539EX-PINDOT
544D

Description

EZ LITE CLAMP REAR ONLY 2 EACH
EZ LITE CLAMP STANDARD 1"

EZ LITE CLAMP EXTENDED 1"
EZ-LITE ADJ HDWE STD

ECONO EZE CLAMPS PIN LOCK-DISC

S/A LEVER REL L BRKT

S/A LEV REL LAT THOR L HDWE LT
S/A LEV REL LAT THOR L HDWE RT
S/A LEVER REL LAT THOR L HDWE
S/A LEV REL 1" OS MICRO BRKT
S/A LEV REL LAT THOR 1" O/S LT
S/A LEV REL LAT THOR 1" O/S RT
S/A LEV REL LAT THOR 1" O/S

S/A LEV REL LAT THOR 2" O/S LT
S/A LEV REL LAT THOR 2" O/S RT
S/A LEV REL LAT THOR 2" O/S

S/A LEV REL LAT THOR L HDW EXT
S/A LEV REL LAT THOR L HDW EXT
S/A LEV REL LAT THOR L HDW EXT
S/A LEVER SUM/WNTR L

S/A LEV REL S/W LAT THOR L BRK
S/A LEV REL S/W LAT THOR L BRK
S/A LEV REL S/W LAT THOR L BRK
S/A LEVER SUM/WNTR 1" OS

S/A LEVER SUM/WNTR 2"

S/A LEVER SUM/WNTR EXT

FIXED SEAT/BACK L'S

FIX SEAT/BACK EXT L'S

FIXED SEAT/BACK 1"0O/S

FIX S/B 1"O/S-EXT BTM

FIXED SEAT/BACK 2" O/S

FIX S/B 2" O/S EXT before OS
SPRING - SOFT

SPRING - MEDIUM

SPRING - FIRM

EE1/EE2 HDWE ONLY NO 430
4-437A, 2 PR- 462 FOR PIN DOT
HARDWARE ONLY EE1/ 102-7500

EZLITELEXT&EE2 ALL HDWE NO S/B

EXT EZ LITE & EE2- HRDWRE ONLY
EXT EZ LITE & FASTCL2-HDW ONLY
DEPTH ADJ. HDWE FOR OVAL PAD

STNG PARTS

4/27/2022

uom
EACH
EACH
EACH
EACH
PAIR
EACH
EACH
EACH
PAIR
EACH
EACH
EACH
PAIR
EACH
EACH
PAIR
EACH
EACH
PAIR
EACH
EACH
EACH
PAIR
EACH
EACH
EACH
PAIR
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
PACK
SET
PAIR
SET

KIT
EACH

Page 9 of 11

Freedom Designs
2241 Madera Rd.

Simi Valley, CA 93065

800.331.8551 | | www.freedomdesigns.com

customerservice@freedomdesigns.com

HCPC

K0108
K0108
K0108
K0108
E1028
E1028
E1028
E1028
E1028
E1028
E1028
E1028
E1028
E1028
E1028
E1028
E1028
E1028
E1028
E1028
E1028
E1028
E1028
E1028
E1028
K0108
K0108
K0108
K0108
K0108
K0108
K0108
K0108
K0108
A9900

K0108/A9900

2R AR Ve R Ve R Ve R Vo R Ve R Vo R VR Vo Ve R Vo R Ve SR Vo R Ve R Vo RR Ve SR Vo RR Ve R R Ve RR Ve RR Vo SR Ve RE Vo RR Vol Vo SR VR Ve SR Vo RR Ve SRV RE Ve R Ve IR Vo RR Ve dR Ve 2R Vo JEV, SRV NE VAR VR ET,Y

Retail

52.00

52.00

76.00
203.00
203.00
203.00
406.00
203.00
203.00
203.00
406.00
203.00
203.00
406.00
249.00
249.00
498.00
283.00
283.00
283.00
565.00
283.00
283.00
328.00
197.00
235.00
197.00
301.00
197.00
235.00

15.00

15.00

15.00
479.00
735.00
826.00
635.00
642.00
690.00
262.00



Yes, you can.

Part No.
544H
549S
555S

562EX
567A
579A
579B
580A
580B
581A
581B
581-EXT
582A
582B
583A
583B
583C
583D
584A
584B
584C
584D
585A
585B
586A
586B
587A
587B
588A
588B
589A
589B
590A
597A
599-4
77PLATEMATE
7700-IVC
7700-TDLR
703 FD MODEL 10
703 FD MODEL 40
7703-2
7714-TDLR

STNG PARTS
4/27/2022

Description uom
HEIGHT ADJ HDWE FOR OVAL PAD EACH
L BRKT FOR EZ CONF- STAINLESS EACH
J/L FOR EZ CONF. BACK STAINLES EACH
EZ LITE EXT / EE2 HDWE- NO 430 SET

EASY CLAMP W/L BRKT EZ CONF. EACH
SEE 579 EACH
SEE 579 EACH
FASTCLAMP ASSY 7/8" EACH
FASTCLAMP ASSY 1" EACH
FASTCLAMP - CLAMP ONLY ALU 7/8 EACH
FASTCLAMP - CLAMP ONLY ALU 1" EACH
PUSH BUTTON FLIP HDWE-EXTENDED EACH
L BRACKET DUAL SLOT 4 X 4" EACH
L BRACKET DUALSLOT 6 X 4" EACH
FASTCLAMP PLASTIC 1" W/ 4X4 L EACH
FASTCLAMP PLSTC CLAMP ONLY 1" EACH
TENSION HOOK ASSY 1" W/ 4X4 L EACH
TENSION HOOK CLAMP ONLY 1" EACH
FASTCLAMP PLSTC 7/8" W/ 4X4 L EACH
FASTCLAMP PLSTC CLMP ONLY 7/8" EACH
TENSION HK ASSY 7/8" W/ 4X4 L EACH
TENSION HOOK CLAMP ONLY 7/8" EACH
FASTCLAMP ALU 1" W/ 4X4 L EACH
FASTCLAMP ALU CLAMP ONLY 1" EACH
FASTCLAMP ALU 7/8" W/ 4X4 L EACH
FASTCLAMP ALU CLAMP ONLY 7/8" EACH
PSH BTN S/A T/S HDWE 1" O/S EACH
PSH BTN S/A T/S HDW 1" O/S EXT EACH
PSH BTN S/A T/S HDWE 2" O/S EACH
PSH BTN S/A T/S HDW 2" O/S EXT EACH
PSH BTN S/A T/S HDWE 0" 0/S EACH
PSH BTN S/A T/S HDWE 0" EXT EACH
TODDLER FASTCLAMP ADJ ASSY 1" EACH
PLASTIC EZ CLAMP W/L-SEAT 7/8" EACH
SPACER WSHER WHITE PLST (7700) PACK
HDREST PLATEMATE ADAPTER EACH
IVC NXT KIT VERT/ADJ HARDWARE EACH
VERT/ HORIZ ADJ REM TDLR HDW EACH
FLIP BACK HDWE FD MODEL 10 EACH
FLIP BACK HDWE FD MODEL 40 EACH
SQUEEZE QR FLIP HDWE. EACH
VERT/HORIZ ANG ADJ REM TDLR HD EACH

Page 10 of 11

Freedom Designs
2241 Madera Rd.

Simi Valley, CA 93065

800.331.8551 | | www.freedomdesigns.com

HCPC

K0108
K0108
K0108

K0108
K0108
K0108
K0108
K0108
K0108

K0108
K0108
K0108
K0108
K0108
K0108

K0108
K0108
K0108

E1028
E1028
E1028
E1028
E1028
E1028
K0108
K0108
K0108
K0108

E1028

E1028

RV R VY AT SR VY SRV, S VSRV, SRV, SRV AR Vo R VR R Vo AR Ve R VR Y SV SR VSRV SRV S VSV SV SRV AV SRV ARV SRV SRV SRV ARV SR VSRV, SRV, SRV, SRV, SR VAR VARV, SRV, SV,

customerservice@freedomdesigns.com

Retail
262.00
53.00
95.00
511.00
136.00
94.00
94.00
97.00
97.00
63.00
63.00
335.00
34.00
42.00
97.00
63.00
67.00
28.00
97.00
63.00
67.00
28.00
97.00
63.00
97.00
63.00
178.00
224.00
178.00
224.00
178.00
224.00
97.00
99.00
13.00
52.00
174.00

342.00
222.00



STNG PARTS Freedom Designs
2241 Madera Rd.

4/27/2022 Simi Valley, CA 93065

—
INVACARE
o y)

Yes, you can. 800.331.8551 | | www.freedomdesigns.com

customerservice@freedomdesigns.com

Part No. Description UoM HCPC Retail
7715-LONG  MULTI-AXIS HDRST HDWE -O/S LNG EACH E1028 S 247.00
7715-STD  MULTI-AXIS HDRST HDWE -O/S STD EACH E1028 S 247.00
848C TRACK NUTS EACH S 2.00
9031C SCREW 1/4" X 5/8" BUTTON HEAD EACH S 2.00
9037A SCREW 1/4-20 X 2-1/4" BHCS EACH S 2.00
9037-4 SCREW 1/4-20 X 2" BHCS 4PK PACK K0108 S 13.00

Page 11 of 11



